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1.

2.

3.

4.

Answer any four

Briefly explain the
life cycle.

Explain the 6 R's

The Cost details of a product are :
Direct material cost 5Oo/o
Direct wages
Overheads
Selling price

3Oo/o

20%
T 1,20,000

PJ-s1 1
III Semester M.Com. Examination, January - 2O2O

(CBCS Scheme)
COMMERCE

Paper- 3.4AT: Strategic Cost Management - I
Time : 3 Hours

SECTION - A

Answer any seven of the sub-questions. Each carries two marks.
(a) Differentiate between Cost control and Cost reduction.
(b) What is meant by Katzen Costing ?
(c) Define Cost management.
(d) What do you mean by Business process reengineering ?
(e) Give the meaning of ABC.
(0 Define Value analysis.
(g) State the objectives of Target pricing.
(h) DeIine JIT.
(i) What is meant by Experience Curve ?
ti) Give the meaning of Cost centre.

It is anticipated that next year the d.irect materials and direct labour cost
will increase by 2oo/o and 2so/o respectively. The effect of the increase in
costs will cause a reduction of 21o/o in the amount of profit. calculate t]le
selling price required to be fixed for next year to earn the same percentage
of profit on sdlling price as at pfesent.

SECTION - B

questions. Each question carries tive marks. 4xS=2O
costing methods to be adopted in different stages of product

of Business Process Re-Engineering.

|iltililtilililt]||tililil]iltl

Max. Marks : 70

7x2=14

P.T.O.
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is a manufacturer ol
oroducts is as follows

2

range of goods.ao. Sun Ltd.
different

Sun Ltd. u'as absorbing overheads on tJ:e basis of DLH' A

management accountant has suggested that tJre company

GC-"1*t.- and has identified cost drivers and cost pools

ne*'l-r- aPPointed
should introduce
as follows :

The following information is suPPlied :

calculate activity based production cost
;"d,;;til ;veri'eads ar6 < s6,oo,ooo'You are required to

products. The total

l iltffi llll lil lllll lllll lil llll
The cost structure of its

Particulars

{/Unit

t/Unit

{/Unit

{/Unit

Units

40

50

40

130

30,000

(n

40

30

r20

20,000

60

30

20

110

10,000

Direct materials

Direct labours @ { 1O/hour

Production overheads

Total cost

Quantity Produced & Sold

ociated CostCost driverActivitY Cost Pool
3,96,000

7,94,OOO

2,10,000

12,00,000

Rrrchase requisitions

Number of Production runs

Orders executed

Number of SetuPs

Stores Receiving

Inspection

Dispatch

Machine SetuP

450

300

t200

500

390

270

1050

450

360

180

750

300

No. of SetuPs

No. of Orders Executed

No. of Production Runs

No. of Purchase requisition

of all the ttrree
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6.

7.

8.

9. MNO manufactures
plant and Process.

I |ltilil| llll lll llllllllll llllllll
A company is coosidering cost 9avi19 

project' This involves purchasing a

machine costing < Z,OO,OO"O, which wr'l- rlsult in annual savings of { 1,00'OO0

and on material 6sts ;; < 40,000. The following forecasts are made of the

rates of inflation each year for ttre next 5 years :

Wage Cost =107o

Material Cost = 596
General Prices = 6%o
The Cost of Capital of tJre Company, irr monetary terms is 15%' Evaluate the

;;;j;i-"""tming that th" In""hit" has life of 5 years and no scrap value'

ip.V f"""to, @15% for 5 years = O'869, Q'756' 0'657' 0'571' 0'4971

What are the benefits and drawbacks of Lean Cost Management ?

SBCTION - C

Answeranythreequestions.EachquestioncarriesTwelvemarks.3'ffL2=36

Explain the methodolory of Target Costing'

four products namely A, B, C and- D using,the same

Following information relates to product penocr :

under the following headings :

Factory overhead applicable to machine oriented activity < 37 '425

Set-up costs < 4'355

Cost of ordering materials < 1'920

Handling materials t 7'580

Administration for spare parts < 8'600

These overhead costs are absorbed by products on a machine hour rate of

i-+.4 p"t hour giving an overhead cost per product of

e = < 1.zor B = ( 1.20; c = { 4.80; D = < 7'2o
However, investigation into the production overhead activities for the period

reveals the following totals :

P.T.O.

Labour
cost

per unlt

Machine
Time

per unit

Direct
labour per

utit
3

3

t2

9

Il4 hour

tl4 hour

t hour

1,/2 hours

l12 }eolrr

l12 }roluir

2 hours

1/2 hours

5

5

T6
7

Totalproductionoverheadrecovered.bythecostaccountingsystemisanalysed
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il J5l.?fi: an overhead-cost per product':'lc ̂ 1"1'lilv}1:-'-1 "-":l'c'
;"#;X;:;n?"a"il,:p'.a""[oi-''iit"tv,T"Tloi:'^"i..*:"::;-ff 3lracllrH (rvsr rr\-o'\rr Lv Hr vst^v".v 

:s" disclosed between overheads
B. to cofrm.tt t  br ief ly on the dif ferenct ^^!:-. j&. r-^-^r ansrinrr

i;JJffi; ro";;;',"i;y$.rn urra those traced by activity based costing.

1O. Engineers Ltd., plans to introdlce two products A and B in the market'

These will be -Lii""i"r"J ln OepartmLnt X, which will be treated as a

You
A.

are required :

profrt centre.-Production 
volumes and costs are estimated as follows :

ottrer tlean ilterest, chargeable to two products
The proPortion
A and B are as

of overheads
under :

The fixed capital investment in the dePartment will be { 2'500 lakhs' The

working capital ."q,,i"rillrrt i" 
"q"i"dt"nt 

to six month's stock of cost of

sales of both the pr"iiil".--'lo ni"o". ttris proiect a term loan of 5O% of

#;;,t;;;#;iJ.;d"il;"i;; u"." out"it'ed frdm a rnanaat institution at an
i;L;;;; rat'e of f e% pli annum. Department X is ex'ected to give a return

of 2Ooh on caPital emPloYed'
Required :
e.'*u"it selling price for products,A and B such ttrat the contribution per

labour hour lrorlnJ"a-"ii" the next higher integer)' is the same for

both the Products.
B. Si"t"*"t't of overall profitability expected'

No. of times
material was

handled

No. of Material orderNo. of
Setups

z
.l

T2

1
4
1
4

Annual Production (units)

Direct material cost Per unit

Direct labour cost per unit ({ 20 per hour)

100% ofdirect wages

lO%o of factory cost

t 3O and { 4O resPectirelY
per unit of A and B

(50% fltxed)

(100% fixed)

(5O% variable)

Factory overheads

Administration
overheads
Selling and distribution
overheads
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r \lilllll llll llll llll\ lllll llll llll
A machine
vears' The
Ls follows :

'rrsed' on a Production 
lrne

l"o-"i" 
-itt""tted 

in runnrng ffi:*::"f:':"""j,e1#1?l
every four
its age are

11.

i ;ig,ff#'Hry**+:;tl *kb *q * Fli'*:?*"?,. i? 
"?3";

"?,i.iliL*{:i,::*m*#J-i:*hri*iJ}*'+:ff:'x"r"':!:t:

**"*',.*-*' "" i:::i# i* Jirffi'ff#t ;lll"l ;?h1?ffi ::':.However, lh.': f f-"1?::frttJfiJ.fffli?'ffi ':i^i't'. p'opo""o li'i""u,' o"
Component x can De. (

rt t"" been gathereo ii'"i tire balance *9tf ,11""""?t-"?1%?t:',ri,-;t 
* o"'

:*'J"*tg?i**"s" 
Division A wants

I'ln*l4li**ll#f:f,T;W"*:qilli*'H'f#i::;;'#I
orofrtable course or a

-oOo-

"t..-.-.-.-.---t*. 
**o*"o tf 

""tt",t

Fanuculens
Purchase Price

Maintenance

fr!l=" t R" "ti 
*"ble V alue

5lakhs

1 per unit

( 2 iakhs

t 5 Lakhs

Fixed orrcrhead

Variable cost

Ave rage Assets :

SundrY Debtors

lnventones

Plant and f'qttiPt"glt"


